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CHAMPLAIN COLLEGE ST.-LAMBERT

MATH 201-NYB: Calculus II
Final Examination
Instructor: Dr. Ming Mei

Note: 1. Only scientific calculators are allowed;

1. (10pts) Sketch the graph of the function
-9 —-22, if —-3<z<0
fl@) =

3z -3, if 0<z <3,

then evaluate the definite integral ffs f(z)dz by interpreting it in terms of area (do not
antidifferentiate).

2. (28pts) Find the indefinite integrals:
1

(a) / ze”ds, (b) / (z+2)Inzdz, (c) / 5, 3% (@ / -\/Z—%;dx-
3. (18pts)

(a) Find the area bounded by the curves y = 22 and y = z.

(b) Find the volume of the solid which is obtained by rotating the region bounded by the
curves y =sinz (0 <z < ) and y = 0 about the z-axis.

{c) Find the volume of the solid which is obtained by rotating the region bounded by the
curves y = sinz (0 <z < 7) and y = 0 about the y-axis.

4. (7pts) Evaluate the given improper integral or show it to be divergent: [,° E‘g-i‘idl'.
I sinn }-
ln+1J

5. (6pts) Show the convergence or divergence of the following sequence:

6. (18pts) Show the convergence or divergence of the following series:
00 2 0 ' 0 Hpt-1
n COS N 2
@ 2m O ligr O Lo
n=2 n=1 n=1
gzt

7. (7pts) Find the interval of convergence of the power series Y .o, Tinie

T

8. (6pts) Find Maclaurin series of f(z) = ¢¥.
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